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1. Which among the following events is/are associated with the Cold War?
(1) Cuban Missile Crisis
(i) Pearl Harbor Attack
(111) Vietnam War
(iv) The formation of NATO
(v) The Munich Conference

(A)  Only (1), (i11) and @v) (B) Only (1), (i1) and (v)
(C) Only (1), (1i1) and (v) (D) Only (@), (i1) and (iv)

2. Which of the following statements is/are correct about the Mughal Architecture?
(1) Shajahan founded the fort complex at Fatehpur Sikri.
(1) The lofty gateway to the Red Fort is known as Buland Darwaza.
(111) Moti Masjid in Delhi was built by Jahangir.
(A) All the above (B) Only (1) and (i1)
(C) Only (1) and (ii1) (D) None of the above

3.  Which of the following provisions is/are not part of the Indian Independence Act, 19477
(1) The Indian Independence Act of 1947 was based on the Mountbatten Plan.
(1) The Act declared India an independent and sovereign state from August 15, 1947
(1i1) The Act instituted the office of Governor General, who was to be appointed by the

British King.

(iv) The Act insisted that the Indian Princely states join the Dominion of India.
(A)  Only ) (B) Only (i11)
(C)  Only (iv) (D) Only (1), (111) and @v)

4.  Which among the following were the important leaders of the Vaikom Satyagraha?

(1) T.K. Madhavan

(1) K.P. Kesava Menon

(111) Mannathu Padmanabhan

(iv) Changanacherry Parameshwaran Pillai

(v) C.V.Kunjiraman
(A) Only (1), (i1) and (iii) (B) Only (1), (1), (iv) and (v)
(C) Only (3), (i11), (iv) and (v) (D) All the above
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5. Which of these statements on the Russian Revolution is/are true?

()
(i)

(iii)

(iv)

The ‘Soviet’ was a body of workers’ representatives set upto conduct strikes.

The final goal of the Bolsheviks was not the establishment of socialism but the
establishment of a republic.

The first act of the Lenin government was the adoption of the Decree on Peace by
which Russia withdrew from the First World War at the cost of losing many of her
territories.

The Romanovs were the only dynasty to fall during the First World War.
(A) Only 1) and (11) (B) Only (1) and (111)
(C) Only (1) and (v) (D) None of the above

6.  Which of these statements about the literary sources on Kerala History is not true?

()

(11)

(iii)

(iv)

Tuhfat-ul-Mujahideen, authored by Sheikh Zainuddin, deals with the Political
history of the Portuguese Period.

Kautilya’s Arthasastra is the earliest Sanskrit work which contains a reference
to Kerala.

The Guruvayur Temple records prove that Tipu Sultan ordered an annual grant to
the temple for the conduct of daily pujas.

Marco Polo and Nicolo Conti were Spanish Travelers who visited Quilon during the
14th century.

(A)  Only (1) and (iii) (B) Only (i1) and (iv)
(C) Only (@) and (iv) (D) Only (11) and (ii1)

7.  Which of the following statements about the Non-Cooperation Movement is/are correct?

@)
(i1)

(111)

(iv)

The Non-Cooperation movement was started by Gandhi on 15t August 1920.

Removal of untouchability among the Hindus and promotion of Hindu-Muslim
unity were part of the programs.

The goal of the Non-Cooperation movement was the attainment of self-government
through any means.

The Chauri Chaura incident led to the suspension of the Non-Cooperation

Movement.
(A) Only (1), (11) and (1v) (B) Only (11), i11) and (iv)
(C) Only (1), (111) and @iv) (D) All the above
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8.  Which among the following is/are the aim of the UNO?

(i) To maintain international peace and security.

(1) To develop friendly relations among nations.

(i11)) To achieve international cooperation in solving international problems.

(iv) Promoting respect for human rights and fundamental freedoms.

(A)  Only (i), (i1) and (ii1)
(B) Only (i1), (iii) and (iv)
(C) Only (1), (111) and (iv)
(D) All the above
9.  Which of the following statements about the Socio-religious Reform Movement in Kerala

1s incorrect?

(A)

(B)
(©)
D)

The SNDP Yogam was formed in 1903 under the auspices of Sree Narayana
Guru.

The Sadhujana Paripalana Sabha was founded by Dr. Palpu in 1905.
The Yoga Kshema Sabha was founded in 1908.

The NSS was founded in 1914 by Mannathu Padmanabhan

10. Which of the following was/were the result of the Revolt of 18577

(1) The British Parliament passed the Better Government of India Act.

(1) The rule of the East India Company ended, and India was taken over by the
British Crown.

(111) 'The office of the Secretary of State for India was created.

(iv) Communal representation and diarchy were introduced.

(A)
(B)
©
D)

Only (1), (i1) and (iv)
Only (11), (111) and (iv)
Only (1), (i1) and (1i1)
All the above
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11. Which of the following statements best describes a critical limitation of topographic

maps in large-scale disaster management planning?

(A) They provide precise elevation details but may not account for real-time

changes in terrain due to natural disasters.

(B) They use standardized contour lines for elevation representation, making

them unsuitable for differentiating between urban and rural landscapes.

(C) Topographic maps offer extensive information on hydrological features but

fail to include data on man-made infrastructure.

(D) Since topographic maps are designed for static landform analysis, they cannot

be used for infrastructure planning in urban environments.

12. Which of the following scenarios best illustrates the interplay between climate and

geomorphic processes in shaping a landscape over geological timescales?

(A) A humid tropical region where rapid fluvial erosion dominates despite the

absence of significant weathering.

(B) A periglacial region where repeated freeze-thaw cycles contribute to mass

wasting and patterned ground formation.

(C) A desert environment where chemical weathering outpaces mechanical

weathering due to high temperatures and arid conditions.

(D) A coastal region experiencing continuous deposition despite rising sea levels

and increased storm activity.
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13. Which of the following statements best explains how India’s geographical features

influence the monsoon climate?

(A) The Himalayas act as a barrier that prevents the southwest monsoon winds
from escaping northward, forcing them to shed moisture over the

subcontinent, while the Deccan Plateau has no role in monsoon distribution.

(B) The Western Ghats, Eastern Ghats, Himalayas and the Deccan Plateau
together influence monsoon rainfall patterns through orographic effects, wind
deflection and rain shadow formation, creating regional variations in

monsoon intensity.

(C) India’s peninsular shape has minimal influence on the monsoon, as the winds
are primarily controlled by global factors such as the El Nifio-Southern
Oscillation (ENSO) and the Intertropical Convergence Zone (ITCZ).

(D) The Thar Desert enhances monsoon strength by creating a high-pressure
system that attracts moisture-laden winds, ensuring uniform rainfall across

all parts of India.

14. Which of the following best explains the complex interplay of factors influencing the

variability and intensity of the Indian monsoon?

(A) The Indian monsoon is solely driven by the temperature contrast between

land and sea, with no impact from global climatic phenomena.

(B) The shifting Intertropical Convergence Zone (ITCZ), along with factors like
jet streams, orographic effects, and ENSO events, governs the seasonal

strength and distribution of monsoon rainfall.

(C) The southwest and northeast monsoons are independent systems with no

interconnection, operating purely based on regional wind patterns.

(D) Orographic barriers like the Western Ghats and the Himalayas only intensify

monsoon rainfall, without contributing to dry spells or regional disparities.

A -10-
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15. Which of the following statements best explains the multifaceted impact of the Palakkad
Gap on regional climate and human activities?

(A) It prevents the penetration of the southwest monsoon winds into Tamil Nadu,

leading to arid conditions in the region.

(B) It serves as a biodiversity barrier, limiting the movement of flora and fauna

between the Western Ghats and the Deccan Plateau.

(C) It acts as a climatic gateway, allowing moisture-laden winds to influence

rainfall patterns while also shaping economic and historical connectivity.

(D) It is primarily significant for transportation, with minimal influence on

climate and biodiversity in the Western Ghats.

16. Which one of the following concept is also known as National Income?
(A) Gross Domestic Product (GDP)
(B) Gross National Product (GNP)
(C) Net National Product (NNP) at Factor Cost

(D) Personal Income (PI)

17. Which Five-Year Plan aimed at achieving ‘Garibi Hatao’ (Eradication of Poverty)?
(A) Third Five-Year Plan
(B) Fourth Five-Year Plan
(C) Sixth Five-Year Plan

(D) Fifth Five-Year Plan

A -12-
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18.

19.

20.

Which of the following statements is true about the composition of NITI Aayog?
(1) The Prime Minister of India is the Chairman of NITI Aayog.

(1) NITI Aayog has a fixed five-year tenure like the Planning Commission.

(111) The governing body of NITIT Aayog includes the Chief Ministers of all states.

(iv) NITI Aayog is an autonomous constitutional body.

(A)
(©)

Only (i) (B) Only (i) and (iii)
Only (i), (iii) and (iv) (D) Only (iii) and (iv)

Identify the correct statement regarding tax and non-tax revenue:

(1) Tax revenue is collected from both individuals and businesses, while non-tax

revenue is collected only from businesses.

(1) Tax revenue is collected by imposing compulsory levies, while non-tax revenue

comes from government services, fees and investments.

(111) Both tax and non-tax revenue are compulsory payments to the government.

(iv) Non-tax revenue includes penalties and fines, but not interest receipts.

(A)
(B)
(©
D)

Only (1)

Only (i1)

Only (11) and (iv)
Only (i), (i1) and (iv)

Which of the following statements correctly differentiates Revenue Deficit and Fiscal

Deficit?

(A)

(B)

(©

D)

Revenue deficit occurs when revenue receipts are less than revenue
expenditure, whereas fiscal deficit represents the excess of total expenditure

over total revenue, excluding borrowings.

Revenue deficit refers to the difference between total revenue and total
expenditure, while fiscal deficit is only related to tax collections excluding

public borrowings.

Revenue deficit includes capital expenditures excluding borrowings, while

fiscal deficit includes revenue and capital expenditures.

Revenue deficit is the difference between revenue receipts and revenue
expenditure, whereas fiscal deficit represents the excess of total expenditure

over total revenue, including borrowings.

-14-
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T02203.

(C) ©wmeod BeT3ay TewNYR) BRODBBD woBwme¥ YNNI w¥rieodd, «©Td
BTN BTS00 B8wead SR WoBTY S NIR w.¥reods.

D) swab T30k Bread B3N D) Bweod SYNRY SWAII SFeIDeNT, 8B3
BEZIIT  BRCBA)  TUNYRY, wYROBOZ WD), BTDZ 03w, WV
B2 30D, FBIDDIST.
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21.

22,

The National e-Governance Plan (NeGP) is an initiative of the Government of India to
make all government services available to the citizens of India via electronic media.

NeGP was formulated by the following departments:
(1)  Electronics and Information Technology
(1) Department of Administrative Reforms and Public Grievances
(111) Central e-Governance Department
(iv) Office of the Information Technology of India
(A)  Only ()
(B) Only (1) and (i1)
(C) Only (i11)

(D) All of the above

Under section 24 of the Right to Information (RTI) Act, the Government of Kerala has
exempted certain organizations from the Act’s purview. But the following circumstances

they are responsible to provide the information :
(1) Policing
(11) Corruption
(i11) Human Rights Violations
(iv) Honour Killings
(A)  Only ()
(B) Only (1) and (ii1)
(C) Only (111)

(D) All of the above
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oao%g ead R-8BYS aleenS (NeGP) 27903 J5or03 2,00 sVBZTDDND, Oty IFeED JFeSNIY
A5 AE° BB T BwwB 03T FeriB0r Ledwerb@od WeIW. NeGP o) 8 39N
REIBNRLW TRDIZ?

() 255 DA Srebd S0

(i) eBY3 DPTBAW DB FeBFRAB BoDZATINY VeI0ss

(iil) BeoT, V-3BYI VI

(iv) 2033 Brobd BoBges 33ed
4) (1) @3,
B) () D@ (ii) I3,
©) (iii) @ro3,

D)  edI a0Fpe

b3 ®A), (RTI) Zeahod IZ>® 24 T eBabY, BedY I5eTF 3O ﬁox’%rwa& So0dod

9,307 ITeS eBT. 8BS 8 BYNT FoTIFFY TD SredSab, wBNTeIeErHST
1) Jpedes® Tom
(i)  eYmoe3e0
(i) I3 BALAY VLT
(iv)  abairerwe Brw
A4) (@) =g
B) (i) D) (iii) I3,
(€) (iii) o3,

D) edI a0Fpe
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23. Which of the following statements are/is true to Anti-Defection Law?
(1) Added to the Constitution in 1985
(1) 52 Amendment Act
(111) Inserted in the 10t Schedule
(A)  Only ()
(B) Only (1) and (i1)
(C) Only (i11)
(D) All of the above

24. The four basis of departmentalisation is popularly known as “4Ps”, they are
(i)  Purpose
(i1) Promotion
(111) Process
(iv) Persons and Place
(A)  Only @)
(B) Only (iii)
(C) Only (1), (i11) and (@v)
(D) All of the above

25. The Human Rights Day 2024 theme is

(1)  “Our Rights, Our Future, Right Now”

(11) “Freedom, Equality and Justice for All”

(1i1) “Dignity, Freedom and Justice for All”

(iv) “EQUALITY — Reducing inequalities, advancing human rights”
(A)  Only ()
(B) Only (1)
(C) Only (i11)
(D)  Only (iv)
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8 BYNT 00D BELBNW BF033 ITReR Fodprt 8OTeNS?

®
(i1)
(111)

QUNEBTET T, BTITNYRY wI0haeN “4Ps” oot BBohererdBas, hriwd

e
(1)
(iii)
(iv)

1985 39 BoATonE, FedTadbI

52 e 3B Bocd

10 Se Sewoxed b FedTeN

(A)
(B)

(©)
D)

(i) 03

(i) @ (i) S523,
(iii) 83

O DT

emcgeﬁ

D)

(©), (ii1) =D (iv)
SedR P

2024 8 IR BAYNY OIT IS

“R, B, I, B3, aBer”
“00Brie w303, , BRI ) o
“o0Brie 3, TE03, ) Ty’
“BRRIF - OBBRIZAYR) 30D TRV, TS BANVR), AVORDBORID”

@

(1)
(iii)
(v)

(A)
(B)
(©)
D)

(i) I3,

(ii) 93,
(iif) @ros,
(iv) @3,
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26.

27.

28.

29.

30.

Identify the State/s where 73" Amendment Act does not apply, normally
(i) Nagaland
(1) Mizoram
(111) Jammu and Kashmir
(iv) Meghalaya
(A) (1) and (i1)
B) (1), (11) and (iv)
(C) (11) and (ii1)
D) @), (1), (1i1) and (iv)

The Constitution of India was adopted and enacted and came into force on
(A) August 15, 1947/January 26, 1949
(B) August 15, 1947/January 26, 1950
(C) November 26, 1949/January 26, 1950
(D) November 26, 1949/November 26, 1950

President’s rule can be imposed in a state on account of the failure of constitutional
machinery under -

(A) Article 352
(B) Article 356
(C) Article 360
(D) Article 368

The amendment to Indian Constitution known as Mini Revision was
(A) 24*» Amendment
(B) 25" Amendment
(C) 42 Amendment
(D) 44* Amendment

Article 17 of the Indian Constitution is related to
(A) Abolition of Untouchability
(B) Right to Equal Opportunity
(C) Abolition of Titles

(D) Right against Exploitation
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73 Se 3R)IB Fo0) BIF,AIB Te B /TRNFY, DS, Tedresaen
@) TP 0TF
(i)  eeveo
(i) 23w, DR) 5020
(iv) Degawod
A) @ D3 (1) B) @), (1) DB (1v)
(C) (i) S (iii) D) @), (i), (ii) DB (iv)

0BT FoFITY, ©oNeB0TTodS R 25007t ST ) 25007t 0L

(A)  eniz 15, 1947/3330 26, 1949

(B) R 15, 1947/3330 26, 1950

(C) IBowok 26, 1949/230 26, 1950
(D) B0k 26, 1949/I5000° 26, 1950

0905 0HoEReBBTENY S, BUB F90000weN TR T, B3 89, FaDRY, IDTBTTD

(A) eﬁmaged 352
(B)  oReied 356
©) eﬂnged 360
D) eﬁmaged 368

903ead FoIPIIT SWBBOLTY DA BB oD sTALIHIT

A) 24 e 3330
(B) 25 e QI
) 42 e 3331
D) 44 e 333

@mza;eci 17 239830} BOITI)

A) o3 e)zsém ARREO
(B) ISR ©B5233 BB,
(C) VhnrY 388

D) ZeesEHd IDHZS BB,
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31.

32.

33.

34.

35.

36.

37.

“Mattuvin chattangale swaya, mallengkil
Mattumathukalee ningalethan” -
These are the lines from which work of Kumaranasan?
(A) Duravastha (B) Karuna
(C) Chandalabhikshuki (D) Veenapoovu

The place “Kadammanitta” is famous for which ritual art?
(A) Theyyam (B) Pooram
(C) Patayani (D) Garudanthookkam

Who was the Renaissance leader who started the Community organization “Samathwa

Samajam” in connection with the Kerala renaissance?
(A) Chattampi Swamikal (B) Vagbhatanandan
(C) Thykkaattu Ayyavu (D) Ayya Vykundta Swaamikal

Sri. P.J. Antony was the first Malayalam film actor to win the National Award for Best
Actor. Which is the film?

(A) Piravi (B) Ponthanmata
(C) Nirmalyam (D) Neythukaran

Which contemporary Malayalam Novel features ‘Amba’ as the central character?
(A) Samudrashila (B) Ula
(C) Arachar (D) Ningal

Where is the first Muslim Mosque in India, “Cheraman Juma Masjid”, located?
(A) Beemappalli (B) Kodungallur
(C) Malappuram (D) Calicut

“Bhayakoutilya lobhangal

Valarkkilloru naatine” - Which Malayalam daily newspaper has raised the slogan?
(A) Deshabhimani (B) Mathrubhoomi
(C) Kesari (D) Swadeshabhimani
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“Boen I Bez ot Tab, BeSoRes
D DB)BOe doneSezor” -
2 BRRCRIBT VTS WS 3,308 TVRW?
A) DoWET B) s
(©) WomuRs D) Aoz

“Be, A8 FYD 00T FobeE BT FAGTING?
@A) S (B) a&pdo
©)  Bweaind (D) rchBoZed,0

3e3Y3 S3perodd, FooRIBOB TS, FeeRel” 20 JBNTead JoFESRY, ©9ToDIT

S3pedod Feadhd oyedh?
(A) 236302 T9,Driwe
(B)  or}eseson™
C) Bzt b
D)  eody &;208 T9,NRw*

3e. 3.2 soud 03D OATD I3 TF, HIIWR 13 Iedo Doadrevo BOSBP 3.

33, areyD?
A) &9 (B) @po3e,Zo
(C) dZree)0 (D)  Sodw3oF

area BFeDES S0 SoB0owO W0’ XY Beod, woZeaN w¥rieols?
A) I3wgder B) v
(C)  eo%zt (D)  ories

239033 SeTL FnA0 DD “eTTRF W Dded” HOT?
@A) DeDIO (B) Zemonued
(©) @emTo D) 5,08

“2BaddPede), edperjorvs

Sod,Felpedd MELIRE” - Aird BV BIBYE FHRLBHWRY, S3H?
(A)  Bezagdard (B) Sespied
(C) Bewd D) IBezeRarod
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38. In which year the Olympic Oath was taken for first time?
(A) 1920 B) 1944
(C) 1936 (D) 1928

39. The term ‘Libero’ is associated with which game?
(A) Basketball
(B) Rugby
(C) Volleyball
(D) Ice Hockey

40. Which is the National game of Bangladesh?
(A) Cricket (B) Football
(C) Kho-Kho (D) Kabaddi

41. Which of the following is not a Spreadsheet Software?
(1) LibreOffice Calc
(1) Microsoft Excel
(111) Apple Numbers
(iv) Google Sheets
(A)  Only (1) and (iii)
(B) Only (11) and (iv)
(C) Only (3), (111) and @v)
(D) None of the above

42. The secondary storage device, namely, hard disk is a
(A) Magnetic Storage Device
(B) Optical Storage Device
(C) Flash Memory Device

(D) None of the above
A -24-
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40.

41.

42.

o33 SREBY BT Wedr w0 TTTetaSRIT ]),eSOTeTANR?

(A)
©)

1920 (B) 1944
1936 D) 1928

‘De3dee’ Do BB oD eﬂeséé TowoRIT?

(A)
(©

200, E3°2700° B) ©h

APISIAPISA (D) oz ®d

2320MTe BT Tad eod €383 A3reR)D?

(A)
©

3Bes* B) PeFeer
adee-adee (D) B8

8 BYNIINYY o & wFdees’ sogy’Seo v?

1) O esdex® aaso‘é

(i) D BReTOF, OB O°

(i) B Boaknw

(iv) Renef Beerrwd

(A)
(B)

(©
D)

() DR (i) I3,

(i) D) (iv) I

@), (i) DD (v) 93,
SeOFINVO AT B0

B,3ead3 VoM@ ToTS, WOTT, ToT'E &5‘6

(A)
(B)

©)
D)

amzsrj( £35° i edees B,
esc?&so‘ K’i@,edea‘ adéd—f
oy ¥ DBed BT,

S
SedIYrE adveYde o)
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43. Which of the following platform is/are used for video conferencing?

(1)  Microsoft Teams

(1) Google Meet

(i11)) Zoom

(iv) Google Cloud
(A) Only 1), (111) and (iv)
(B) Only (1), (i1) and (111)
(C) Only (11), (i11) and (iv)
(D) Only ), (11) and (iv)

44. Online harassment most accurately comes under
(A) Phishing
(B) Spamming
(C) Cyberbullying
(D) Hacking

45. Which of the following are true about LAN and WAN?
(1) WAN covers more area than LAN
(1) LAN is faster than WAN
(111) WAN is cheaper than LAN

(iv) LAN stands for Large Area Network
(A)  Only () and (i1)
(B) Only (i1) and (iii)
(C) Only (ii1) and (iv)
(D) Only (1) and (@iv)
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43. B B3YNIT A @tFddre R eBode 593 oneN wFSUrHBH?
G  DBeeee, BoBNRW
(i) renef deesk
(i) 2weaF
(iv) Reries R
A @), (i) DB (v) I3,
B) @), (i) DR (iii) I3,
(C) (D), (i) DR (iv) a3,
D) @), (1) DR (iv) a3,

44, TS, SHRVSY) A0TZN 8 VAR erinvd) w3
(A)  Sorf
(B) @9 Dore
(.)ZS
(0 R0k IBODAB
(D) @9 Sorf

45. LAN @& WAN o} 8 3¥NSIRYY adredcdh I0reNas?
(i) WAN, LAN No@ 83 o583e33:, worteodd
(i) LAN, WAN Ao3d SerteeNd
(iti) WAN, LAN Ao3 enemend
(iv) LAN o033 BT o033 o
@) @)D () @93,
B) (i) DR (iii) eI,
(€) (iii) DB (iv) I3,

D) (@) D2 (iv) Sz
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46. Choose the correct statement/statements with respect to the National Space Day

celebration of India:
(1) It is celebrated on 234 August of every year

(11) “Touching Lives while Touching the Moon : India’s Space Saga” is the theme for
National Space Day 2025

(111) It commemorates the successful landing of Chandrayaan-3 on the Moon
(iv) It was announced to celebrate the successful Mars Orbiter Mission

(v) It builds greater awareness and enthusiasm among citizens about India’s space

journey

(A) All the statements are correct
(B) Only (1), (111) and (v) are correct
(C) Only (111) is correct

(D) Only (11) and (i11) are correct

47. Newton’s law of universal gravitation states that every particle attracts every other

particle in the universe with a force,

m, m
—qlum,y
F=G™

Here ‘G’ and 7’ are respectively

(A) Newtonian constant of gravitation (6.674 x 10! m3.kg'l.s2) and distance

between the centres of masses
(B) Acceleration due to gravity, 9.8 ms2 and the distance between the particles
(C) Gravitation constant (6.674 x 1011 m3.kg1.s2) and the radius of the particle

(D) Acceleration due to gravity, 9.8 ms—2 and the product of radii of the particles
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279333 mc?a_dJ eod mméaes D030HB ToWoRATo3 TOBTT zﬁe@é/ﬁeﬁ’éﬁ@éaﬂ& 30 :
0O O, I3 IR¢ BNF, 23 Tord BT HIT.

(i1) “aSo@aiaig( 3 dradaen a%edrﬁ%’aig( DI : 033 mméazi TodR” oW 2025 T
(nc?a_dJ eod mméazs DIT ABDLZINS.

(iii) @D Bor)I heeS Bor)iyer’-3 ah3d,0dreN RVTFD, T ODS.
iv) D3R, e’ BAFEITT DR O B30T VB, FXeATUTIADRD.

(V) 2D 03T T FOB F0TET W FrfOs00 BN 0 D) YVTY BB, ADFDIT
A) 0wy B3R SONS
B) (), (i) DR (v) S93, <O
(C) (iil) S5, <O

D) (i) D (iii) I3, IO

RRUR'S TTFE MUEIRFEM VDY SRe0D BnF wold WOBT IZTIDI
B3cdeomd BT, BEAFVBY Qoth FeWIT,

mym
F =G—1r2 2
Q8 ‘G DI 7 FhaeN

A) R PHDHZVBRFBRD 008 (6.674 x 1011 mikgls?) DR BF0dRY
BeoBnY SBDAN o33

(B) rdTYERFBD0T JeIFES, 9.8 ms2 HA) BeNY SDAS 03T
(€) rh@BRFS 40008 (6.674 x 10711 mikg1.s7?) D) 30T 2
D) rDEIBFBNOT FeRBFE, 9.8 ms? HB) orY BT BT
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48. Pick the correct statement/s with respect to Global Warming Potential (GWP) :
(1) Refers to the quantity of heat trapped by a greenhouse gas in the atmosphere

compared to carbon dioxide.
(1) GWP of a gas depends on its radiative efficiency only
(111) Methane is the gas used as reference to calculate the GWP
(iv) GWP is often calculated over a 100-year period

(v)  GWP concept is used to balance the ecosystem exchanges of multiple greenhouse

gases and for developing strategies to reduce greenhouse gas emissions
(A) All the statements are correct

(B) Only (11) and (i11) are correct

(C) Only (1), (iv) and (v) are correct

(D) Only (1), (111) and (v) are correct

49. Identify the correct groupings based on the announcement regarding IUPAC Top Ten

Technologies in Chemistry 2024
(A) Active adsorption, Aptamers, MXenes, Triboelectric nanogenerators

(B) Artificial muscles, Aptamers, Photocatalytic hydrogen, Triboelectric

nanogenerators
(C) Active adsorption, Aerogels, MXenes, Sodium-ion battery

(D) Aerogels, Nanozymes, Sodium-ion battery, Solar fuels

50. In 2016, four new elements were added to the modern periodic table, thus completing the
seventh period of the periodic table. Choose the odd one among the below elements that

does not belong to the list of newly added elements :
(A) Moscovium (B) Tennessine

(C) Oganesson (D) Livermorium
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48. w3z oD HO03ah TG E (Global Warming potential, GWP) 1t Sowoddzo3
TOeB TP/ TeRBMFYY, 80 :

1) @0meod BB, T BeedITT  ToSeITHTY  BADDS 80T 3T Toad
BRI, FeeSDIT.

(i) ©dud GWP 33 30 BEZ0hR) &508) ¥800DIDIT3.

(iii)) GWP o3) 59,2390 a5 Derder’ OB, suefearzzon WF¥BUHST.

(iv) GWP o) SN 100 S=eriv os3dabe) &3, se3uerd3s.

(V) 0B BIDHDI ey BOTC SBID IS, IBeVIIPPT[ DB BIDHD
AL BROJRDIZALR), 3B Serdew BoFNvRy SFRBBIw GWP S030)Sab,
WYBUINIBT.

A)  ouy BeYdnw IOareNS
(B) (i) D (iii) FOBTNS

©) (@), 1v) DD (v) JI0eNS
(D) (1), (i) DR (v) [OANS

49. 20Wdd TTDITIFBY 2024 T t30a I SoIroIny BOBT BBHD BHTH et
0T rHoPrYRy HHEI.
(A) D HedZRRIS, 8 eDHOTNR, OF 0 e, aj)éaifaeaei’%s‘ mémaasdeaso‘rﬁw
B) 333 Do, ©BeDONW, Ppedpdyedts® @RS, o lpeadd s
N RPVITLLITTIR
(C) <D HedZpRIB, TN, OTF 03 R, Jredodo-wadrex® mzsesa
D) oBeedorny, mémeaiédfmb, RReB0DHo-adreon® méaaﬁ, 790 Q0TI

50. 2016 3O, 8EHAB B8IBeE BRLHTZ, ToL), BRI DWRVSANYR), JeOJU2dLD), GereN B8=3e3
BRegsd OvIe WTRODRY, BEEFrR PV, TPITN JedJIUd BwudINY @edt Feda
BYNS SOTHNPY I3 2,08, 80 :

(A)  Secie,edodo B) &3
(C) ST D) OSZeecdadIF
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51. Helen is 41 years old and her daughter is 9 years old. How many years from now will

Helen be three times as old as her daughter?

@A 3 B) 5

© 7 D)y 9

52. In a Mathematics examination, the pass percentage was 87.5%. If 7 students failed, how

many students appeared for the exam?

(A) 48 (B) 56

(C) 46 (D) 54

53. A group of 5 men or 12 women can complete a particular task in 78 days. How long will

it take for 5 men and 12 women working together to finish the same task?

A) 44 B) 39

() 36 (D) None of these

54. The fifth term and the eighth term of a geometric progression are 27 and 729

respectively. What is its 11t term?

(A) 19683 (B) 59049

(C) 6561 (D) 27729

55. How many times greater is 0.18 than 0.004?

A) 35 (B) 40

(©) 50 (D) 45
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BIIT 41 SR DF) wBdh DRV 9 T@e. o), IRNY J03T FUS 33 DRPNOT B Bed),
®ed), ST HTY?

@A 3 B) 5
© 7 D) 9

nedd @0egadhd, evdeardod Tesdwomod 87.5% SNB). 7 JDYUBENWD WDSeFTITT, o),
ATBEN S0eBrt HorsooNGD?

(A) 48 (B) 56
(C) 46 (D) 54

5 PDAID vFme 12 D&Y o) 78 DINYY womd DT, BOIT, RPEFTHRPIVIDD.

5 PDHID DA 12 DEFDD we39N 3UT FBTT worfe BVTTIY, SEEFTRIIW da), JHod

BRDI3RNIT?
A 44 B) 39
(C) 36 D)  2PIRYY dreIde ey

B3, h3ead Fridad TR BB DI Poue BB FveN 27 HB) 729. VT 11 Fe BB WRIR?

(A) 19683 (B) 59049

(C) 6561 (D) 27729

0.004 3,03 0.18 cba’% 5&323 ézﬁg?

A) 35 B) 40

(C) 50 D) 45
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56.

57.

58.

59.

60.

A water bottle is priced at Rs. 15/- which includes the cost of both the bottle and the

water. If the water costs Rs. 12/- more than that of the bottle, what is the cost of the

bottle?
(A) Rs.1.50 (B) Rs.2.00
(C) Rs.2.50 (D) Rs.3.00

John lent Rs. 6 lakhs to Sony for three years at a compound interest rate of 5% per

annum. What amount will John receive after 3 years?
(A) Rs. 6,61,500 (B) Rs.6,94,575

(C) Rs. 6,97,500 (D) Rs. 7,02,450

What is the profit percentage when half the quantity of an article is sold at double the

price?
(A)  200% (B) 250%
(©) 300% (D) 400%

The average age of a group of nine retired persons is 64. When one member leaves the

group, the average age drops to 62. What is the age of the person who left?
(A) 68 B) 72

C) 74 (D) 80

What is the minimum number of square tiles required to completely cover a rectangular

floor measuring 5.25 m by 5.10 m?
A) 1190 (B) 1180

(C) 1860 (D) None of these
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QBN worsO0h S Te. 15/- AT, AFBO weud DR KBTI BJahe edT. B B
27o30N03 T, 12/- BLGT, o3 B oRy?

(A) Rs.1.50 (B) Rs.2.00
(C) Rs.2.50 (D) Rs.3.00

B0’ et @edeB 5% Soodwd wBTTTY Bwed SRENY Sov Te. 6 OZNYR, TewmaN
QeBTD. 3 SRENY S0BT W’ o), FeIID, SEWBWST?

(A) Gw. 6,61,500 (B) dw. 6,94,575

(C) dw. 6,97,500 (D) dn. 7,02,450

000 BRI VTETR), @)BIEIT, VWD Bed), STt yovees BrBwar LIB TeBBomod OR),?

(A)  200% B) 250%
(C) 300% D) 400%

2033 BB MY MHodS FoeT0 Sobah, 64. ey IBIYD MHoBY, SpTwert, FTFO SodD,
623, @P0n33. TWTLTRT B30D DO, d),?

(A) 68 (B) 72
(C) 174 (D) 80

5.25 de. dod 5.10 e. P¥3ad 300TeF33 ﬁod@( Jogpearaan =g e esrﬁééc‘.’)d)d
Bg 333 a?ée)“rieé 50@5as om)?

(A) 1190 (B) 1180
(C) 1860 D) WINYO Aroy@e B

-35-



056/2025-K

61.

62.

63.

64.

65.

The students of a class are made to stand equally in rows. If 3 students are extra in each
row, there would be 1 row less. If 3 students are less in a row, there would be 2 more

rows. Then the number of students in the class would be
A) 24 (B) 36

(C) 48 (D) 72

What is the remainder when 85 x 87 x 89 x 91 x 95 x 96 1is divided by 100?

A 0 ®B) 1

© 2 D) 4

If ABC and DEF are both 3-digit numbers such that A, B, C, D, E and F are distinct

non-zero digits such that ABC+ DEF =1111, then what 1is the value of

A+B+C+D+E+F
A) 28 B) 29
©) 30 D) 31

An accurate clock shows 8 O’ clock in the morning. Through how many degrees will the

hour hand rotate when the clock shows 2 O’clock in the afternoon?
(A) 144° B) 150°

(C) 168° (D) 180°

It takes 8 seconds for a clock to strike 5. How many seconds does it take for the same

clock to strike 10?
(A) 16 B) 8

€ 18 D) 10
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w0l BTN ITYREMPR, Toewnvd JIWeImeN AWBod BBUHBT. F3 TOS[O

3 JOYBND TA,BI0WWNGS, 1 <o IBDWWNDLIT. 20w TOIY 3 ITBENWD

3BT, 2 Teeuriwd BFNDWIS. 81 STRAWODLS IRy Fos; SADHIT.
A) 24 (B) 36
(C) 48 D) 72

85 x 87 x 89 x 91 x 95 x 96 dg( 100 8o 23N GLITR) d),?

A 0 B) 1
€ 2 (D) 4

ABC @& DEF o0de 3-©90dab ﬁoaj?sriwﬁdod A, B C D, E @& F X3 PR BOT
©03nweNgT, ABC + DEF =1111 888 A+B+C+D+E+F3 dfaoé oR)?

A) 28 (B) 29
(C) 30 (D) 31

200 Awdmed NByedsy) WSor 8 rMoedab) SeedMIT. NBIS Dpy® 2 roed SpedIwen
noedad S, om), BNNYR), 3drHST?
A)  144° B) 150°

(C) 168° (D) 180°

200 NBART 5 o) Fedaben 8 I SrcErWBT. Bt NBERG 10 Y Fedabe
o), FBotdrish Srchdew3a?

(A4) 16 B) 8
(C) 18 D) 10
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66. If you are the 9t person from either end of a queue, how many people are there in that

queue?
A 10 B) 19
© 17 D) 18

67. If you write down the first 100 natural numbers, how many times will 8 be repeated?
A) 10 B) 8

©) 19 D) 20

68. Find the odd man out

253, 136, 352, 460, 324, 631, 244
(A) 136 (B) 324

(C) 352 (D) 631

69. % of a tank holds 135 litres of water. What part of the tank is full if it contains 180

litres of water?

NI ® Y
© % o) 2
70. Find the next number in the sequence : 1, 6, 13, 24, 41, ?

A 77 B) 62

(C) 66 (D) 61
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66. e 2.0 IT30d 2TBe DONVT 9 Je F3aNGT, &8 TS TOIY o), BSOWT?

A) 10 B) 19
© 17 (D) 18

67. Qexy) I3 100 5@%5 ﬁoaiémfdg( V3T, 8 o), 200 RJTeTBeIrorHSEI?

@A) 10 (B) 8
© 19 (D) 20
68. 33, FBobR) DD

253, 136, 352, 460, 324, 631, 244
(A) 136 (B) 324
(C) 352 (D) 631

69. %1 20t 3905 135 Oe30® eT, TeoBDLIH. 180 Oeest SR ToDFT 3,053

abred renad) BoDDIT?

@ %
® %
© %
™ %

70. ODZRTO oD Fosd DY, BoBDHBAO : 1, 6, 13, 24, 41, ?

@A 77 (B) 62
(C) 66 (D) 61
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71. supposed to complete these assignments by afternoon?
(i) ShouldI
(1)) Aren’tl]
(i) AmlI
(A)  Only ()
(B) Only (1)
(C) Both (i1) and (ii1)
(D) Only (ii1)

72. Students are advised to refrain bad company.
(A)  of (B) against
(C) for (D) from

73. A few workers participated in the strike, ?
(A) did they (B) didn’t they
(C) will they (D) isn’tit

74. “Where is the bus stand?” said the young man. (Change into indirect speech).
(A) The young man enquired where was the bus stand.
(B) The young man asked for the bus stand.
(C) The young man wanted to know where the bus stand was.

(D) The young man enquired about the bus stand.

75. The singer performed
(A) at the concert for two hours melodiously.
(B) melodiously for two hours at the concert.
(C) for two hours melodiously at the concert.

(D) melodiously at the concert for two hours.
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76. I expressed my strong desire to learn kayaking canoeing to know the

differences.
(A) either...or
(B) neither...nor
(C) Dboth...and

(D) such...that

77. There are no less than fifty packets of noodles in the carton. (Correct the sentence)
(A) There are not less than fifty packets of noodles in the carton.
(B) There are no fewer than fifty packets of noodles in the carton.
(C) There are not few than fifty packets of noodles in the carton.

(D) There are not lesser than fifty packets of noodles in the carton.

78. Next year, I guitar for twenty years.
(A)  will play
(B) will have been playing
(C) will have been played

(D) will not be playing

79. Are we not going to finish the lesson today? (Change into Passive voice)
(A) Isthelesson going to be finished by us today?
(B) Will the lesson be finished today by us?
(C) We are not going to finish the lesson today.

(D) Will we finish the lesson today?
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80. His teacher tried at correct him by giving valuable advices. (Correct the sentence)
(A) His teacher tried to correct him by giving valuable advices.
(B) His teacher tried to correct him by giving valuable advises.
(C) His teacher tried to correct him by giving valuable advice.

(D) His teacher tried at correct him by giving valuable advices.

81. Yesterday Tim parked in a restricted area and the police his truck. (Choose

the word that best completes the sentence)

(A) 1impounded (B) imprisoned
(C) 1impaled (D) interned
82. I was when they rang up and informed that I had won a lottery. (Choose the

correct idiom)
(A) flying off the handle
(B) on cloud nine
(C) atloggerheads

(D) redin the face

83. It was her first appearance in public as a performer in Bollywood movies. (Give one word

for the words in italics)
(A) Culmination (B) Omnipresence

(C) Debut (D) Masterpiece

84. The company celebrated the accomplishment of all their goals. (Choose the antonym of

the underlined word)
(A) Failure (B) Fruition
(C) Execution (D) Debacle
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85. The weather is suitable for sowing seeds. (Choose a similar word for the underlined

word)
(A) congenital (B) congenial

(C) contagious (D) converse

86. Choose the word that is spelled incorrectly.
(A) Bureaucrat (B) Entrepreuneur

(C) Intelligentsia (D) Septuagenarian

87. “respondez s’il vous plait” means
(A) Please serve on a silver plate
(B) Peace be with you
(C) You should be responsible

(D) Answer please

88. The thieves the apartment while the family was on a vacation.
(A) Dbroke into (B) broke down
(C) broke up (D) broke away
89. Antennas able cockroaches to sense their surroundings. (Choose the correct
prefix)
(A) dis - B) un-
(C) en- D) in-

90. The phenomenon of glowing sea water signifies changes in the marine environment.

(Identify the plural of the underlined word from the choices given.)
(A) phenomenas (B) phenomena

(C) phenomenal (D) phenomenum
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Q) SoBI3a3pe B 3TPpeSoTS
(C) wpeB3BIT0 D) SIVoeed

92. BYr QeBDI Joe, msérwebm lelonpinl mésdea ciraea’cf)e)md mséd@( DHD3ED.
Q) BeSITY B33 mdﬁoﬂaaﬂ& BRODTIeD.

(B)  2e3I3BO FPe3, B wonS b 00T
(C) ZLeIIBY B35 WomS b, TeobTelea.
(D)  DedT Swed DB NRHe Swe NS

93. ‘Earned Leave’ — @oNes® 333 8&;&3 DB
(A) dTex T3 (B) mo0oBes T3
(C) Fod3 33 D) 93 33

94. W B33, ITTGE TR, BTW
(A) @, 83 (B) ooTf, 33
(C) 3, oD (D) T3, JIBe3S3

95. BpBITD SERLNDHT Jowogtod SwedFodh BT, FowoRIT STSI, HDAD.
AN JICIOL AV
A) og, B) Red
(C) o (D) e

96. 85 BV AeBDS MBI, BpEETIRP0.

‘Qoedmeed Soabed, 3037 ’

Q) Boleeasab? B) Draded?
(C)  2IobeSern? D) Boserd?
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(b) e
©
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A)  (@)-4), (0b)-(1), (©)-2), (D)-B3)
B)  (a)-(4), ()-(2), (©)-(1), (D)-(5)
©  (@-3), (0)-(1), (©)-(4), (D)-(2)
D) (@-3), (b)-(4), (©)-(5), (D)-(1)
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Space for Rough Work
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Space for Rough Work

-47-



056/2025-K

6210GY aljds 6210GY o ljds
@OBHD GO (SO N
8210B)6IBRIOS @O ag)emo : 100 Moo : 75 almlg

alomocudll mod®es) : 100

10.

11.

12.

13.

14.

963NIAM L BHES TIDBFUEMBRD

€010B) ESLIQY M@EYM®) €106 aljPd> @al@Blenens. A, B, C, D ag)amil moel @od:xo eoud-alenas
32106 A TYBETBRIEN MM

6l0B) alMYHOETION G OSE AUED (A ICmiH CHIBOHIE Gol0B) alPd @OHHD  CHIUY
@no)sloflgiens.

89600 ©EBPMINVMAlENe MMHIWSER 62108 aljVd: BOLHUD GHIW @OAUMOS aldletd a0d&ler!
dlaflserilcd coaleqsiomlddleno.

MlemsdenMAUE IAHMRM  @oHHO  eHOUl@  dflmio AR  CHIWIARES €.0103)  al}qVdE-moaTy
2IElHNME®EIT @o® ©SMS] aleleaqgmes (AL BeQISIEEmENE®I6NT.

G0l10B) allVd: @O MM all00.0ISWNS QIRIENINETE MGHEQOMIW] GoIRGBIRENS. (@a MMUD LoD
30196 allB006M (il6T3WBHE) AIElHHME®SIT BOED @OHHUO CGHHIUILNEE 62103 aljDd:0 MIF] QIETEIE:.
61068y alj@dho aleley modKAI@ oaby OWEMIY] M@ 6.01Q)dlenie. HEMOONYIMIMEBE @RMIAE
216l.2J08IR|06® 60106} a JPE0 MOHHIM aldslg).

aldley mysemsloeys® oeapPRmodmdl males aldaldenm eolsy almeori@d 100 ealsimmalo
(@000 9830 g aldlerouflesneNEmIEM. GoldB) AlIEHETH@  @0oISleHIOME®I, BICIWEmI,
Qfl51EaI0EmO @OW GalRd(d ©EMBIMIL); @OLNNI0 OeMEEI @PHHIR malledleaigmes wyELWIGD
OE06NZOUCIBWI0 @OED @OBHO EHOWILRER a YDA E.210G) alj(Pdo MGl QUOETRB®)0 6.216YENS®IE.
D@ aBROU0 (IWIMOQIS®IEN.

D G2lBjealg|Cleal 1 o 70 aleowies colsyemB®  gogleflege  @mMweie)mow
@)l ofldlenymy. 9 ¢2106|mBaaS GrdmAc @AVRM ag)milau (uoenIMl.ol Mo@EBWAES togdlad
DOWINERIIAREE 62106 JETBREN) @YWOBADOLEYM@.

32193 o RWHETIO @AUITOM Galgflmy O@IFIMMMI BMIo afFIMI®D A6NE GaleR)d:W G IRGTISIeNE. snay
@m0 H6N33afISlenMEIMEs H1Gla R HalewIUsenHINM@IET.

OEMAETBR COINYSIEMIM EBEElSNMEIM @M dEmELHSMIONM@ A0jROEE] WIAEGUEBG
WAL B0 QIO L6

nd@emeo 9heqes end calosjerimie (A), (B), (C), (D) agm moel somesmsd earideso.
NAWODOo  OBOOETMSOT  6.04)0.CDD. HEMOABLOSLMIM  MITWeR]gs 62103y MMIdIM emeEWes
wdlwymmeo myaflaflenym ialg (entenfld) mo@o Mlale®o &0Yea]0 nIW@ Galo@f Galm Paleoulla]
0|00,

80600 WAWEMEETIMIe 80y  modes AEleN®-®e 860 OMEPEDOETMIe  modss 1/3
MaUDOAH@o 621QJjo. HEHOO COEIOQSIEMIED €.2106I6TBDBE MODLHE MaUMOO)L-QfQ).
alAleuomao  HFlQMEIN  ayemd,  pEmesensenm  omafledleageo ap@aflencemews 6oy
9eaPNI®AWI0 al@lBH0a00t QNS @ JOBTHEAIOMHIM aldSle).

a1deqeamBR  &AdMaID] aloellesnmBmosm. alGleHIEl (BNEHHS MSEMHEWI @RBIMISS ymo
MSEMHHEWI 6.21QPYIMM HBEBJUNIAMA 08 @PEWIMN 109X (ol jdalleniammoe.

48



